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SUMMARY

The primary objective of this paper is to aid the scientists and engiheers in applying response surface
_ procedures to obtain optimum operating conditions for many technical fieldls, particularly, for industrial
manufacturing process. ’

When a set of data is available from an experimental design, it is often of interest to fit a second or-
der polynomial regression model in k independent variables, and find the condition of the independent vari-
ables(e. g, temperature, pressure, etc.) that optimize the response variable(e. g., vield, strength, etc.).

This paper proposes a method how to obtain the optimum operating condition, and how to find the condi-
tion by using thé computer. A computer program written in FORTRAN language is attached for the

readers who may want to use the computer program.
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REAL+8 OUT3 (7)
DIMENSION X (200,36), Y(200), XXPD (36,38,
- XYPD (36), LL(36), L2(36),

1 SB(7), B(7,7), BINV {7,7), R(7, 7),
RAMDA(7), BH(36), XO(36), XOPT(7),

2 OUT1 (7), OUT2 (7) R1{49), XINV (1296),
BNIN(49 ), BXIN(49), FMT (20)
DATA OUT1/ X1, X2, X3, X4, X5, X
6, X7/,
DATA OUT2/ W1
W6 , W7 /
DATA OUT3/ W1 W1, W2=*Ww2 6 W3
W3 , W4xW4 , W5+W5 , W6 W6 , W7+W7/

, W2, W3, W4, W5,

* % * * DESPONSE SURFACE ANALYSIS * * *
1—CONTROL CARD
CcoL.3—-10
PROBLEM NAME
COL11 - 15
NUMBER OF OBSERVATIONS
COL 16— 20
NUMBER OF VARIABLES

2—FORMAT CARD

3—-DATA CARDS
REQUIRED SUBROUTINE - - - MINV
EIGEN
- PRINT1
1 FORMAT (1H1/ /30X, RESPONSE SURFA

CE ANALYSIS)
111 READ(1, 3, END=999) PR, PRI, N, MV
3 FORMAT(2X,2A4, 1015)
READ(1, 5) FMT
5 FORMAT(20A4)
PRINT 7, PR, PRL

7

FORMAT(1HIL, RESPONSE SURFACE

ANALYSIS. . ... , 2A4)

100

400

500

120

130

135

DD 100I=1, N

X({I, 1)=1.

M=14+2+MV+(MV *(MV—1) ) /2

DO 4001=1, M

XYPD(1)=0.

BH(I)=0.

DO 400 J=1, M

XXPD(L, j).=0.

DO 500 I=1 , MV

XOPT(I)=0.

DO 500 J=1, MV

R(I, J)=0.

MV1=MV+

DO 1101=1 N

READ (1, FMT) Y(I), (X(1, J} , J=2, MV1)
WRITE (3, 11)

FORMAT (/ /10X, INPUT DATA/10X,10( —))
WRITE(3, 12) (OUTI(T}, I=1, MV)
FORMAT (23X, Y VALUE ,7 (2X, A2,
VALUE) ) DOS001=1, N
WRITE(3,13) I, Y (I}, (X(I,J) =
MV 1)

FORMAT(15X, 15, 8F10 3)

MF=MV1

DO1201=2 , MF

DO 12¢ J=1, MF
MV1=MV1+1

DO 120K=1, N

XK, MV1)=X(K I} *X(K,J)

BETA COEFFICIENT ESTIMATION
USING LEAST SQUARE METHOD

DO 130 I=I, M

DO 130J=1, M

DO 130 K=I, M

XXPD (I, )=XXPD(I, J)+X (K , I)» X
(K,J)

NX=0

DO135J=1, M

DO 135 I=] M,

NX=NX+1

XINV (NX)=XXPD(I , J)

CALL MINV(XINV, M,RD,11,12)



10

NX=0

DO 136J=1, M
DO 1361=1, M
NX=NX+1

136 XXPD(I, J}=XINV(NX)

140

150

21

151

152
23
24
22

160

170

180

200

DO 14011, M

DO 140K=1,N
XYPD(I)=XYPD(I}+X(K , 1) *Y(K)
DO 150 I=1, M

DO 150 J=1, M
BH(I)=BH(I}+XXPD(I, J)*XYPD(J)
WRITE(3, 21)

FORMAT(1HO// 10X, BETA COEFFI-
CIENT /10X, 16 (-))

@

DO 151 I=1, MF
I=1-1

WRITE (3, 23) IT, BH(D)
II=MF .

DO 1521=1, MV

DO 152 J=I, MV

II=11+1

WRITE (3,24} LJ,BH(II)
FORMAT(14X, B( 11,) ,2X,E15.7)
FORMAT(14X, B(,211), } ,1X,E15.7)
FORMAT (20X,E15.7) ‘

CALCULATE STATIONARY POINT

DO 160 1=1, MV
II=1+1
SB(I)=BH(II)
MF1=MF

DO 1701I=1, MV
DO 170 J=1, MV
MF1=MF1+1

B(I, J)=BH(MF1)
IF(I. NE. J) B(I, J)=B(I, J)/2.
DO 1801=2, MV
I=1-1
DO180J=1, 1
B(L,J=BW,D
NB=0

DO 200 J=1, MV
DO 200 =1, MV
NB=NB+1
BNIN(NB)=B(L, J)

CALL MINV (BNIN,MV,RD,11,12)

OO0

- 205

210

31

220

230

240

41

NB=0

DO 205 J=1 MV
DO205 I=1, MV
NB=NB+1

BINV (L, J)= BNIN{NB)

DO 2101I=1, MV

DO 210J=1, MV
XOPT{I)=XOPT(I)~BINV(I , J)*SB(J)/2.
WRITE (3, 31)

FORMAT (1HO/ /10X, STATIONARY
POINT /10X,16 (-) )

WRITE (3, 22) (XOPT(1) , I=1, MV)

THE ESTIMATED RESPONSE AT
STATIONARY POINT

Xo(1)=1.

DO 2201=1 , MV

II=I+1

XO(11)=XOPT(I)

MF2=MV+1

DO 230 I=1, MV

DO 230 J=I , MV

MF2=MF2+1
XO(MF2)=XOPT(I)*XOPT{J)

YH=0.

DO 2401=1, M
YH=YH+BH(1)*XO(I)

WRITE(3, 41) YH

FORMATITHO/ / 10X, THE ESTIMATE
D RESPONSE AT STATIONARY
POINT /1 10X, 42( —)/20X, E15 . 7)

CANONICAL ANALYSIS FORM
NC=0

DO 242 1=1 , MV
DO 242 J=I, MV

 NC=NC+1

242

245

BXIN(NC)=B{J, I)
CALL EIGEN (BXIN,R1,MV,0)

NB=0

DO 245 J=1, MV
DO 245 I=1, MV
NB=NB+1

R(L, J)J=R1(NB)
NC=0



OO0

291

300

42

43

51

52

444,

999

10
15

20

J=L(K)}

DO 291 I=1, MV
DO 291 J=I, MV
NC=NC+1
BINV(J , [)=BXIN{NC)
DO 300 =1, MV
RAMDA(I)=BINV(I, I}
WRITE(3, 42) YH
FORMAT(1HO/ / 10X, CANONICAL
ANALYSIS FORM/10X,23 ( — )/ C
1156X,Y= ,E15.7) o c
WRITE( 3, 43) (RAMDA(L) , OUT 3(I),
I=1, MV):
FORMAT(18X, + ,E15. 7, 1X,A5)
WRITE (3, 51)
FORMAT (1HO/10X, W = M (X—XO)
/10X, 12( =)/ / 10X, M=)
DO 444 1=1, MV
WRITE (3,52) (R(I, J) 4=1,MV)
FORMAT (20X , 7E15 . 7)
CONTINUE
GO TO 111
STOP
END
SUBROUTINE MINV(A,N,D,L,M)
DIMENSION A(1), L(1), M{1)

O0O00

SEARCH FOR LARGEST

D=1.0

NK=-N ’
DO 80 K=1,N

NK=NK+N

L(K)=K

M(K)=K

BIGA=A(KK)

DO 20J=K , N

1Z=N#(J—1)

DO 20 1=K , N

J=1Z+1

IF{ ABS(BIGA)-ABS(A(LJ))) 15, 20, 20
BIGA=A(LJ)

L(K)=I

M(K)=J

CONTINUE

OO0

INTERCHANGE ROWS g
c

25

38

11

IF(J-K) 35, 35, 25
KI=K—N
DO 301=1,N
KI=KI+N
HOLD=-A(KI)
J=KI-K+J
A(KD)=A(JI)
30 A(JI)=HOLD
INTERCHANGE COLUMNS
[=M(K)
IF(I-K) 45, 45, 38
JP=N=(1—1)
DO 40J=1, N
JK=NK+J
JI=JP+J
HOLD=—A(JK)
A(JK)=A(JI)
A(J)=HOLD
DIVIDE COLUMN BY MINUS
PIVOT (VALUE OF PIVOT
ELEMENT IS CONTAINED
IN BIGA)

35

40

45
46

1IF(BIGA) 48 , 46, 48
D=0.0
RETURN
DD551I=1,N
“IF(I-K) 50, 55, 650
IK=NK+I
A(IK)=A(IK)/(—BIGA)
CONTINUE

48
50
55

REDUCE MATRIX

DD65I=1,N
IK=NK+I )
HOLD=A(IK)
=I-N

DO 65J=1,N
[J=1J+N

IF(I-K) 60,, 65, 60
IF{J—K) 62, 65, 62
KJ=1J—1+K
A(LJ}=HOLD~*A({KJ)+A(1J}
65 CONTINUE

60
62

DIVIDE ROW BY PIVOT
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@]

70
75

80

100

KJ=K-N

DO 75J=1,N
KJ=KJ+N

IF(J—K) 70,75, 70
A(KJ)=A(KJ)/BIGA
CONTINUE

PRODUCT OF PIVOTS
D=D+BIGA

REPLACE PIVOT BY
RECIPROCAL

A(KK)=1 .0/BIGA
CONTINUE

FINAL ROW AND COLUMN
INTERCHANGE

K=N
K=K-1
IF(K) 150, 150, 105

105 I=L(K)

108

110

120

125

130

150

IF(I-K) 120,120, 108
JO=N=*(K-1)
JR=N=*{I-1)

DO 110J=1,N
JK=JQ+J

HOLD=A(JK)

JI=JR+J -
AK)=—AI)
A{J)=HOLD

J=M(K)

IF(J-K) 100, 100, 125
KI=K—N

DO 1301=1, N
KI=KI+N
"HOLD=A(KI)
J[=KI-K+J
A(KI)=—A{JI)
A{JI)=HOLD,

GO TO 100

RETURN

END

SUBROUTINE EIGEN(A , R ,N .MV)
DIMENSION A(1), R(1)

GENERATE IDENTITY MATRIX

OO0

OO0

5

10

15
20

25

30

35

40

45
50
55

60

62

65

68

RANGE=1 .OE-6
IF(MV—-1) 10,25, 10
10=—N

DO 20J=1,N
1Q=I0+N
DO20I=1,N
[J=10+I

R(LJ)=0.

IF(1-J) 20, 15, 20
R{lJ)=1,0
CONTINUE

COMPUTE INITIAL AND FINAL
NORMS (ANORM AND ANORMX)} -

ANORM=0.

DO 351=1, N

DO 35 J=I, N

IF{I-J) 30, 35, 30
[A=I+(J*J—J)/2
ANORM=ANORM+A(IA) *A{IA)
CONTINUE

IF(ANORM) 165, 165, 40
ANORM=1.414*SQRT(ANORM)
ANRMX=ANORM*RANGE/FLOAT(N)

INITIALIZE INDICATORS AND
COMPUTE THRESHOLD, THR

IND=0

THR=ANORM
THR=THR/FLOAT(N)
L=1

M=L+1

COMPUTE SIN AND COS

MQ=(M+M—M)/2

LO=(L*L—~L}/2

LM=L+MQ

IF(ABS(A(LM))~THR) 130, 65, 65

IND=1

LL=L+LQ

MM=M+MQ

X=0.5+(A(LLI-A(MM))
=—A{LM)/SQRT(A(LM}*A(LM)+X*

X}

IF(X) 70,75,75



O0O00O00

70

Y=—Y

75 SINX=Y/SQRT(2.0#(1.0+{SQRT (1.0-Y

78

80
85

90

95
100

105
110

115
120

125

130
135

*Y))))
SINX2=SINX*SINX
COSX=SQRT( 1. 0—SINX2)
COSX2=COSX*COSX
SINCS=SINX«COSX

ROTATE L AND M-COLUMNS

ILQ=N*{L—-1)
IMQ=N*(M-1)
DO1251=1,N
10=(I*I-T1)/2
IF(I-L) 80,115, 80
IF{I-M) 85, 115, 90
IM=I+MQ

GO TO 95

IM=M+IQ

IF(I-L) 100, 105, 105
IL=]+LQ

GO TO 110

IL=L+IQ

X=A(IL)*COSX—-A(IM) *SINX
AIM)=A(IL)*SINX+A(IM)*COSX

A (TL)=X

[F(MV-1) 120,125,120
[LR=ILO+I

IMR=IMQ+I
X=R(ILR)*COSX~—R(IMR)*SINX
R{IMR)=R(ILR)*SINX+R(IMR})*COSX
R(ILR)=X

CONTINUE"

X=2.0+«A(LM) *SINCS
Y=A(LL)*COSX2+A(MM)*SINX2-X
X=A(LL)*SINX2+A{MM)*COSX2+X

. A(LM)=(A(LL)—A(MM))*SINCS+A(LM)

*(COSX2-SINX2)
A(LL)=Y
A(MM)=X

TESTS FOR COMPLETION
TEST FOR M=LAST COLUMN
IF{M—N) 135,140, 135

M=M+1
GO TO 60

140
145

155

150

160

13

TEST FOR L = SECOND FROM LAST
COLUMN

IF(L—(N—1)) 145,150, 145
L=L+1 o
GO TO 55

IND=0

GOTO50

IF(IND—1) 160, 155, 160

COMPARE THRESHOLD WITH FINAL
NORM

IF(THR—ANRMX) 165, 165, 45

SORT EIGENVALUES AND EIGEN-
VECTORS

165 | 10=—N
DO 185 1=1, N
10=IQ+N
LL=I+(1*1—T)/2
JQ= N» (I-2)
DO 185 J=I, N
JQ=JO+N

170

175

180
185

(.58

MM=J+(J*J~J)/2
IF(A(LL)-A(MM) ) 170, 185, 185
X=A(LL)

A(LL)=A{MM)

IF(MV-1) 175,185, 175
DO 180 K=1,N
ILR=IQ+K

IMR=JQ+K

X=R(ILR)
R(ILR)=R(IMR)
R(IMR)=X

CONTINUE

RETURN

END

Dt orael ols A

INPUT DATA

AWK =

Y VALUE X1 VALUE X2 VALUE
54.600 —1.000 0.0
71.700 —0.500 0. 866
59,800 —0.500 —0.866
78 . 700 0.500 0.866
78 . 900 0.500 —0.866
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6 91.000 1.000 0.0
7 90. 400 0.0 0.0
8 87 . 500 0.0 0.0
9 91 . 000 0.0 0.0
10 88 .300 0.0 0.0
BETA COEFFICIENT
B(0) 0.8929974E 02
B(1) 0. 1648332k 02
B(2) 0.3377601& 01
B(11) —0. 1649983E 02
-B(12) —0.6986131E 01
B(22) —0. 1720074E 02

STATIONARY POINT

0.5002192E 00
-0 . 3400981E-02

THE ESTIMATED RESPONSE AT STATIONARY
0.9341661E 02

CANONICAL ANALYSIS FORM

Y = 0.9341661E 02
+ —0.1333968E 02 W1+W1
+ -0.2036087E 02 W2x*W2

W =M (X-XO)

0.7415618E 00 0. 6708845E 00
—0. 6708845E 00 0. 7415618E 00

(526) KNS T8 220
ojch, TR YubqoR pko] A}&slw HoLK
SIEEGFHA-E Pkl o= 20000 2]  EEATIFISL
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o] TR el 4 QT ANEKHIES ﬁ’sﬁ’;’t’
e 23 7} & ok ol _,_.zl-o] sl & L%Ei [ A
o}, Hul= 7p=¢] 3 -10xk 11-154 16-20
ol 27 FAlelE, AR 4, FRwTL
A8l FA gh=ollw Fi¥e] Format &
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SAMPLE 10 2

(3F8. 0)

- 54.6 —1.0 0.0
717 —0.5 0.866
59. 8 —0.5 —0.866
78.7 0.5 0.866
78.9 0.5 —0.866 |
91.0 1.0 0.0
90. 4 0.0 0.0
87.5 0.0 0.0
91.0 0.0 0.0
88.3 0.0 0.0
(237 ;. 9% =8 dejol #)

// JoB

// EXEC SNURSA

~ SAMPLE 10 2

(3F8. 0)
(data)
/%
/ &

(&9 1 Ao AdxpAlbdoll 48] 2HE-H)

ol
AR



